INSTRUCTIONS

INSTRUCTION FOR MARKING THE ANSWERSHEET

The answer sheet for FDDI Entrance is given on Side 2 of the Application Form cum Answer
sheet. Please see the sample in this bulletin. The ovals have not been printed in the sample
answer sheet. The actual answer sheet to be supplied in the examination hall will carry the
ovals to be darkened for your answers.

Use HB pencil for darkening the ovals, writing in the boxes and signing the declaration.

Do not use H, 2H pencils. The mark mode by such hard pencils will be too light and will not be
read by computer, will read such markings as two answers and will give negative marks.

Do not use ink pen or ballpoint pen to mark your answers.

CORRECT METHOD ANSWERS

Each question is followed by four-answer choices, which and are marked 1, 2, 3 and 4. Select
the answer of your choice on the answer sheet, using HB pencil; darken the oval bearing the

correct answer against the serial number of the question. For example, if the answer to
guestion number 2 is 4, you should mark the answer as shown below:

(@) (b) (c) (d)

S e O -

Please note that the oval should be dark and should be filled in as completely as possible

WRONG METHODS OF MARKING ANSWERS

Some incorrect methods of marking are shown below:

(© (d)

> O O OO O O & O

(Use of tick mark) (Use of cut mark)
(a) (b) (© (d) (a) (b) (©) (d)
(Use of cross mark) (Half filled oval)
(a) (b) (©) (d) (a) (b) (©) (d)
(Use of dot) (Mark outside the oval)

HOW TO CHANGE YOUR ANSWER: If you wish to change your answer, erase completely the
already darkened oval by using a good quality eraser and darken the new oval indicating the new
answer. Do not darken more than one oval. If more than one oval is darkened, the answer will
be counted as wrong by the computer.
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INSTRUCTIONS

SAMPLE TEST QUESTIONS - PGDFTM

The set of questions given below will familiarize you
with the form of questions asked in the Common
Admission Test. The questions are only indicative of
the general nature of the pattern in the test.

LOGICAL REASONING

1. There were X sparrows and Y parrots in cage. One
fine morning, P of the birds escaped to freedom. If
the bird keeper, knowing only that P = 7, was able to
figure out without looking into the cage that at least
one sparrow had escaped, then which of the following
does not represent a possible (XY) pairs?

(a) 18,5 (b) 15,9 (c) 11,6 (d) 8,3

2. The remainder when 260 is divided by 5 equals
(@0 (b) 1 (c) 2 (d)3

Directions: Questions 3 and 4 are based on the
following:

3. Snaffle is played with a mck of 52 cards. Each
player is dealt 13 cards and values his suits
separately, each card counting as much as its face
value (Ace-1, Jack, Queen, King - 11,12,13
respectively). Then the total value of the Spade suit
is multiplied by 4, the Heart suit by 3, the Diamond
suit by 2, the Club suit is counted at face value. The
total of these 4 suits is then aggregated is the winner.

I was recently dealt a hand with more spades than
hearts, in which no two cards had the same face
value. If the spades had been clubs, the hearts
spades, the diamonds hearts and the club diamonds,
my score would have been 27 more than it was. If the
spades has been diamonds, the hearts clubs, the
diamonds spades and the club hearts, my score would
have been 30 less than what is was. If the spades had
been hearts, the hearts diamonds, the diamonds clubs
and the clubs spades, my score would have been 11
less than what it was. If | tell you the colour of the
king in my hand, you could deduce all the cards, |
held.

The total of spades was,

(a) 18 (b) 16 (c) 14 (d) 12

(d) None of the above

The total of hearts was
(a) 18 (b) 16 (c) 14 (d) 12
(d) None of the above

QUANTITATIVE APTITUDE

1. Rohit and Rajesh each have a certain number of
mangoes. Rohit says to Rajesh, “If you give 30 of your
mangoes, | will have twice as many as left with you”.
Rajesh replies, “If you give me 10 | will have thrice as
many as left with you”. How many mangoes does
Rohit have?

(a) 28 (b) 34 (c) 56 (d) 62

2. The speed of a boat in still water is 10 km/hr. If |
can travel 26 km downstream and 14 km upstream in
the same time, find the speed of the stream.
(a) 5 km/hr (b) 4 km/hr
(c) 3 km/hr (d) 2 km/hr

3. If the man’s wages are increased by 10% and
afterwards decreased by 10 % find the change in his
wages.

(a) 1 % increase
(c) 5 % decrease

(b) 1 % decrease
(d) No change

ENGLISH

Directions: Read the following sentence and identify
errors of grammar, usage and spelling.

Mark (a) if the sentence has one error.

Mark (b) if the sentence has two errors.

Mark (c) if the sentence has three errors.

Mark (d) if the sentence has four or more errors.

1. The girl was indeed surprised by the warmth and
pleasantry of her reception considering all she had
heard of her hostesses’ rudeness.

(@) O (b)O (cyO (d)y O

Directions: The Question below consists of groups of
sentences, followed by suggested sequential
arrangements. Select the best sequence.

2.1 Woodpeckers, crossbills and nutcrackers feed on
insects and seeds in the firs.

2.2 It is a zone of predators such as bears, wolves and
lynxes,

2.3 Higher up the air becomes thinner and there is
more sunlight and wind.

2.4 Temperature drops about 20 Degree C for every
300 meters.

2.5 Gradually, the softer world of the foothills gives
way to the alpine zone, where conifer frees
dominant.
(@34521

(e) None of these

(b)34251 ()34215

GENERAL AWARENESS
1. VIP suitcases are being manufactured by

1. Tata Plastics products

2. Blow Plastics (India) Ltd.

3. Asian Plastics

4. V.I.P. Plastics
2. Which website got the “Best Website Award” at
the India Internet world 98
(a) timesofindia.com
(c) abcl.com

(b) rediff.com
(d) khel.com

3. Which Company’s new ad line is *“I can”
(a) Reebok (b) Nike
(a) Pepsi (b) Adidas

4. Which Country’s flog has AK-47 ON IT
(a) Sudan (b) Mozambique
(c) Congo (d) Jordan
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INSTRUCTIONS

SAMPLE TEST QUESTIONS - DFT

The set of questions given below will fomilarise you
with the types of questions asked in the Common
Admission Test. The questions are only indicative of
the general nature of the test. It is possible that a
type of question not illustrated here may appear in
the test.

QUANTITATIVE APTITUDE

1. A box contain 4 black balls, 3 red balls, and 5
green balls, 2 balls are drown from the box at
random. What is the probability that both the balls
are of the some colour

(a) 47/66 (b) 176

(c) 19/66 (d) None of these
2. P can complete o work in 12 days working 8 hours a
day. Q can complete the same work in 8 days working
10 hours o day. If P and Q work together, working 8
hours a day, in how many days can they complete the
work

(a) 6 6/11 (b) 6 5/11

(c)56/11 (d) None of these
3. The following question is followed by three
statements. You have to study the question and all
the three statements given and then decide whether
any information provided in the statements (s) are
redundant and can be dispensed with while answering
the given question.
What is the area of given rectangle
(A) Perimeter of the rectangle is 60 cm
(B) Breadth of the rectangle is 12 cm
(C) Sum of tow adjacent side is 30 cm
(a) A& Bonly (b) A only
(c) B only (d) only

LOGICAL REASONING

1. Directions: The question below consists of a
guestion and two statements given below it. You have
to decide whether the data provided in the
statements are sufficient to answer the given
guestion:
Who is Uncle of L
(A) P, Brother of M, is father of L,M is father of 5
(B) R is father of L’s cousin,

(a) A alone is sufficient

(b) B alone is sufficient

(c) Either A alone or B alone is sufficient.

(d) Both A & B together are not sufficient.
2. Directions: Ravi, Suresh and Asif are in control of
the following number- symbol series respectively

Ravi-2& S®@9PTBE£8Q 6

Suresh-AIAF@V4$oMTD I

Asif-G3H#KN@®5R=7WY
Starting from the left end and following the given
order in each series, if a group of three elements is
formed by taking symbol from Suresh’s series, number
from Rave’s series and letter from Asif’s series, each
symbol-number-letter only once, which of the
following will be the elements of the 4" such group
formed.

@ $8N (b)© 6R
not exit

(c) $ 6 N (d) 4™ group does

3. Directions: Answer the following question based on
the alphabet given blow:
ABCDEFGHIJKLMNOPQRSTUVWXYZ

If the letters of the word PRODUCTIVE which are at
the odd numbered positions in the English alphabet
are picked up and are arranged in alphabetical order
from left and if they are now substituted by Z,Y,X and
so on beginning from lift which letter will get
substituted by W

(a) No letter will get substituted by W

(b) O (U

aT (e) None of these

GENERAL AWARNESS
1. Which of the following articles of Indian
Constitution ensures Freedom of the Press in India
(a) Article 356 (b) Article 79
(c) Article 27 (d) Article 327

2. Which of the following countries is not a member
of SAARC

(a) Bangladesh (b) Myanmar

(c) Maldives (d) Nepal
3. “‘Cue’ is term used in

(a) Billiards (b) Chess
(c) Athletic (d) Manly

ENGLISH
Directions: Peck out the word that is either most
nearly the some in meaning or opposite of the word
printed in capitals.

1 VIRILE (S)
(a) Pompous (b) Boastful
(c) Athletic (d) Manly

2. CHIMERICAL (A)

(a) Wonderful (b) Unnatural

(c) Realistic (d) Economical
3. IMPECCABLE (A)
(a) Faulty (b) Repulsive

(c) Practical (d) Reasonable
Directions: (4to 5) In each of the following Passages,
there are blanks each of which has been numbered.
These numbers are printed below the passage and
against each, some words are suggested, one of which
fits the blank appropriately. Find out the appropriate
words.

Something has happened in the last twenty years
surely must ... (4) anything that has
happened before. Some historians are saying that
thrust .......... B () space represents a vital turning
point in history.

4 (a) recede (b) precede
(c) transcend (d) terminate
5 (a) into (b) in
(c) upon (d) on
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INSTRUCTIONS

DO NOT WRITE IN THIS SPACE

FOR OFFICE USE ONLY

ANSWER SHEET

1.

2.

NAME

ROLL
NO.

INSTRUCTIONS

WRITE YOUR ROLL NO. AND NAME ONLY IN THE SPACE PROVIDED
ABOVE.
ALL QUESTIONS HAVE ONLY A SINGLE CORRECT/ BEST RESPONSE.
MARK IT BY FILLING APPROPRIATE CIRCLE WITH H.B. PENCIL,
CORRESPONDING TO THE RESPONSE TO EACH QUESTION.

AS FAR AS POSSIBLE, DO NOT CHANGE YOUR ANSWER BUT
SHOULD. YOU WANT TO, COMPLETELY ERASE YOUR PREVIOUSLY
MARKED RESPONSE AND MARK THE NEW ANSWER.

© 00 NO O wWwN P

(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A (B) (©) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (€) (D)

31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60

(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (€) (D)

61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90

(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (©) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (€) (D)

91

92

93

94

95

96

97

98

99

100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120

(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (O)
(A) (B) (C) (D)

121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
43
44
145
146
47
48
149
150

= =

= =

(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (C) (D)
(A) (B) (€) (D)
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